
 

 

 
 
 
 
 

TNPSC GROUP IIA GENERAL STUDIES 
(EXAM HELD ON 24.01.2016) SUBJECTWISE CATEGORISED  

 

GROUP IIA – 2016 BIOLOGY 
 

1. Which one of the following cells formed during gametogenesis is diploid? 
A. Primary Polar body    B. Spermatid 
C. Spermatogonia   D. Secondary polar body  
,d nry; Mf;fj;jpd; NghJ cUthFk; ,ul;ilka nry; ,tw;Ws; vJ? 

 A. Kjd;ik JUt cWg;G   B. ];ngh;khl;bl; 
 C. ];ngh;kl;NlhNfhdpah  D. ,uz;lhk; epiy JUt cWg;G  

 
2. Match Column I with Column II and III and Choose the correct options:  

Column I    Column II    Column III 
1. Typhoild  a. Haemophilus influenza i. Chronic inflammation of the  

        lymphatic vessels  
2. Pneumonia b. Trichophyton    ii. Dry scaly lesions on the skin  
3. Filariasis  c. Salmonella typhi  iii. Alveoli filled with fluid  
4. Ringworm  d. Wuchereri malayi   iv. Intestinal perforations  
A. I–c–iv; 2–a–ii; 3–b–i; 4 – d – iii  B. I–c– iv; 2 – b – ii; 3 – a – iii; 4-d-i  
C. I-c-iv; 2-a-iii; 3-d-i; 4-b-ii   D. I-c-iv; 2-d-ii; 3-a-i; 4-b-iii  
gl;bay; I I> gl;bay; II kw;Wk; gl;bay; III cld; nghUj;jp rhpahd tpiliaj; 
Njh;e;njLf;f:  
 gl;bay; I  gl;bay; II   gl;bay; III 
1. ilgha;L [Puk; a. P̀Nkh/gpy;y];  i. epzePh; ehsq;fspy; ehl;gl;l 
    ,d;/g;Sad;]h tPf;fk;  
2. epNkhdpah b. biuf;Nfh/iglhd;   ii. Njhypy; cyh;e;j nrjpy;fs; 
nfhz;l fhaq;fs;  
3. /igNyhpahrp];  c. rhy;khdy;yh ilgp   iii. Rthrf; fhw;W igfs;  
jputj;jpdhy; epiwe;Js;sJ  
4. glh;jhkiu      d. cr;rh;Nuhpah khyhgp  iv. Fly; uzkhjy;  
B. I–c–iv; 2–a–ii; 3–b–i; 4–d–iii  B. I–c– iv; 2–b–ii; 3–a–iii; 4-d-i  
C. I-c-iv; 2-a-iii; 3-d-i; 4-b-ii   D. I-c-iv; 2-d-ii; 3-a-i; 4-b-iii 
 

  



 

 

3. Turpentine is obtained from  
A. Pinus roxburghii    B. Welwitschia mirabilis 
C. Ginkgo biloba     D. Cycas revolute 
lh;igd;ld; fPo;fz;l kuj;jpy; ,Ue;J ngwg;gLfpd;wJ 
A. igd]; uhf;];gh;i[  B. ty;tpr;rpah kpuhgpyp]; 
C. [pq;Nfh igNyhgh   D. irf]; nutYAl;lh   
 

4. Fructose-6-Phosphate is also known as  
A. Newberg ester    B. Harden ester 
C. Young ester     D. Paranas ester 
/g;uf;Nlh];-6-gh];Ngl; ,t;thWk; miof;fg;gLfpwJ? 
A. epA+ngh;f; v];lh;   B. `hh;nld; v];lh; 
C. aq; v];lh;    D. guhdh]; v];lh;  
 

5. In human, Prothrombin required for blood clotting is synthesized in the  
A. Spleen  B. Stomach  C. Liver  D. Thymus 
kdpjdpy;> FUjp ciwjYf;F Njitg;gLk; GNuhj;Nuhk;gpd; ,tw;wpy; 
cUthf;fg;gLfpwJ. 
A. kz;zPuy; B. ,iug;ig C. fy;yPuy;  D. ijk]; 
 

6. Match List I with List II and select the correct option given below : 
List I    List II 

 a. Simmond’s disease  (i) Thyroid gland 
 b. Diabetes mellitus  (ii) Adrenal gland 
 c. Cushing’s disease  (iii) Pituitary gland 
 d. Myxoedema   (iv)  Pancreas 
 A. a-iii, b-iv, c-i, d-ii   B. a-ii, b-iv, c-I, d-iii 
 C. a-iii, b-iv, c-ii, d-i   D. a-ii, b-iv, c-iii, d-i 

gl;bay; I cld; gl;bay; II ia xg;gpl;L rhpahd tpilia Njh;e;njLf;fTk;  
 gl;bay; I     gl;bay; II 
a. irkd;l; Neha;   1. ijuha;L Rug;gp  
b. ilagb]; kpypl];  2. ml;hPdy; Rug;gp  
c. F~;rpq;fpd; Neha;  3. gpl;A+l;lhp Rug;gp 
d. kpf;Nrhvbkh    4. fizak;  
A. a-iii, b-iv, c-i, d-ii   B. a-ii, b-iv, c-I, d-iii 

 C. a-iii, b-iv, c-ii, d-i   D. a-ii, b-iv, c-iii, d-i 
 
 

  



 

 

GROUP IIA 2016 – CHEMISTRY 
 

7. Match correctly the following Lists 1, 2 and 3   
List I     List 2    List 3 

 I. Ammonia   a. White solid   i. Rocket fuel  
 II. Basic reducing agent  b. Hydrazine   ii. Haber’s process  
 III. Explosive    c. Colourless volatile gas  iii. Hydrazoic acid  
 IV. hydroxylamine d. Colourless volatile liquid  iv. Oxidising and agent 
 reducing 
 

A. I – b- iii   II – c – iv  III. d – ii  IV – a – I  
B. I – d – i  II – b – iii  III – a – ii  IV – c – iv  
C. I – a – iv  II – c – ii  III – d – i  IV – b – iii  
B. I – c – ii  II- b – i  III – d – iii   IV – a – iv 
gpd;tUk; gl;bay;fs; 1> 2 kw;Wk; 3 fisr; rhpahfg; nghUj;Jf:  
 gl;bay; 1  gl;bay; 2    gl;bay; 3  
I. mNkhdpah   a. nts;is jpz;kk;  i. uhf;fl; vhpnghUs; 
II. fhu xLf;F fuzp b. i`l;urPd;   ii. N`gh; Kiw  
III. ntbf;Fk; jd;ik  c. epwkw;w MtpahFk; thA  iii. i`l;urhapf; mkpyk;  
IV. i`l;uhf;]pykpd; d. epwkw;w MtpahFk; jputk;  iv. Mf;]p[Ndw;w  

kw;Wk; xLf;F fhuzp  
A. I – b- iii   II – c – iv  III. d – ii  IV – a – I  
B. I – d – i  II – b – iii  III – a – ii  IV – c – iv  
C. I – a – iv  II – c – ii  III – d – i  IV – b – iii  
D. I – c – ii  II- b – i  III – d – iii   IV – a – iv 

 
8. Find the incorrect statement(s) from the following:  

i. 2, 4, 5 trichlorophenoxy acetic acid is a herbricide  
ii. Thallium compounds are fumigants  
iii. Organo phosphorus insectides inhibit cholinesterase 
iv. Organo chlorine insectides are stomach poisons  
A. i and iii only     B. ii and iii only  
C. ii and iv only     D. iii and iv only  
gpd;tUtdtw;Ws; jtwhd $w;Wfisf; fhz;f: 
i. 2> 4> 5-biuFNshNuh gpdhf;]p mnrl;bf; mkpyk; xU fisf; nfhy;yp  
ii. jhypak; Nrh;kq;fs; GifAz;lhf;fpfs; MFk; 
iii. NfhypNd];bNu]; nehjpia fhpk gh];gu]; G+r;rpf;nfhy;ypfs; jLf;Fk;  
iv. fhpk FNshhpd; G+r;rpf; nfhy;ypfs; tapw;W er;RfshFk;  
A. i kw;Wk; iii kl;Lk;   B. ii kw;Wk; iii kl;Lk;  
C. ii kw;Wk; iv kl;Lk;  D. iii kw;Wk; iv kl;Lk;  



 

 

9. Match List I with List II and select the correct answer using the codes given 
below the Lists : 

List I     List II 
 a. Fatty substance    1. Pectins 
 b. Manufacture of ink   2. Suberin 

c. Nitrogenous waste product 3. Tannins 
d. Fruit jellies    4. Alkaloids 
 a b c d 
A. 1 3 4 2 
B. 3 4 2 1 
C. 2 3 4 1 
D. 2 4 1 3 
thpir I cld; thpir II apidg; nghUj;jp thpirfSf;F fPo; nfhLf;fg;gl;Ls;s 
njhFg;gpypUe;J rhpahd tpilapid njhpT nra;f:  
 thpirI      thpir II  
a. nfhOg;G nghUs;    1. ngf;bd;fs; 
b. ik jahhpg;G      2. #ghpd; 
c. iel;Nuh[Pd]; fopT nghUs;   3. lhdpd;fs; 
d. go n[y;ypfs;     4. My;fyha;Lfs;  

a b c d 
A. 1 3 4 2 
B. 3 4 2 1 
C. 2 3 4 1 
D. 2 4 1 3 
 

10. Find out the values of a,b,c and d in the following equation 
IO 3

−  + aI- + bH+ → cH2O + dI2 

 A. a = 3, b = 2, c = 1, d = 1  B. a = 5, b = 6, c = 3, d = 3 
 C. a = 5, b = 6, c = 3, d = 6  D. a = 10, b = 12, c = 6, d = 6  
 gpd;tUk; rkd;ghl;bd; a, b, c kw;Wk; d-d; kjpg;Gfisf; fhz;f.  

 IO 3

−  + aI- + bH+ → cH2O + dI2 

 A. a = 3, b = 2, c = 1, d = 1  B. a = 5, b = 6, c = 3, d = 3 
 C. a = 5, b = 6, c = 3, d = 6  D. a = 10, b = 12, c = 6, d = 6  
 
11. Find the pH of a buffer solution containing 0.20 mole per litre sodium acetate 

and 0.15 mole per litre acetic acid given that dissociation constant of acetic acid 
is 1.8 × 10-5 
A. 5.8697  B. 5.1303  C. 4.1303  D. 4.8697 



 

 

0.20 Nkhy;/ypl;lh; Nrhbak; mrpl;Nll; kw;Wk; 0.15 Nkhy;/ypl;lh; mrpl;bf; mkpyk; 
fye;j jhq;fy; fiurypd; kjpg;igf; fz;Lgpb. (mrpl;bf; mkpyj;jpd; gphpif khwpyp 
1.8 × 10-5)  
A. 5.8697  B. 5.1303  C. 4.1303  D. 4.8697 

 

GROUP – IIA – 2016 CURRENT AFFAIRS 
 
12. With reference to Tamilnadu, Nisha : 2008 is similar as P : 2015. Then P points 

our to  
A. BOB09  B. Madi  C. HudHud  D. Roanu  
jkpo;ehl;ilg; nghWj;jtiuapy;> ep~h : 2008 vd;gJ P : 2015> vd;gjw;F 
xj;jjhFk;. vdpy; P vd;gJ vijf; Fwpf;Fk;?  
A. (BOB09) ghg; 09  B. khb C. `{j;`{j; D. NuhZ  
 

13. Which gene was identified recently by scientists of India as primarily 
responsible for obesity among Indians? 
A. THCM8B B. THFG6C  C. THKR8E  D. THSD7A 
,e;jpah;fspd; cly; gUkDf;F fhuzkhd kugZ vd ,e;jpa tpQ;Qhdpfshy; 
rkPgj;jpy; fz;lwpag;gl;lJ vJ?  
A. THCM8B B. THFG6C  C. THKR8E  D. THSD7A 

 
14. India’s first dedicated multi wavelength space observatory for astronomy 

research, launched on 28th September 2015 is  
A. GSAT – 6 B. GSAT – 15 C. GSAT – 16  D. ASTROSAT  
,e;jpahtpy; Kjd;Kjypy;> thdtpay; Muha;r;rpf;nfd;Nw g;uj;Nafkhf 
tbtikf;fg;gl;L> 28 nrg;lk;gh; 2015 md;W Vtg;gl;l gy;miyePs tpz;ntsp 
Muha;r;rp$lk; vd;gJ 
A. GSAT – 6 B. GSAT – 15 C. GSAT – 16  D. ASTROSAT  

 
15. Which of the following statements on SAHAJ scheme is/are correct? 

1. SAHAJ will enable customers to post online request for a new LPG 
connection  

2. It was launched by the Finance Ministry  
3. Initially the scheme was launched in 22 cities across the country  
A. 1 only   B. I and 2 only   C. 2 and 3 only  D. 1 and 3 only  
SAHAJjpl;lk; kPjhd gpd;tUk; $w;Wfspy; ve;j $w;W (m) $w;Wfs; rhpahdit?  
1. Gjpa LPG ,izg;gpw;fhd ,izajs Ntz;LNfhis Efh;Nthh;fs; mQ;ry; 
nra;a SAHAJ ,ayr; nra;Ak;  

 2. ,J epjpj;Jiw mikr;rfj;jhy; njhlf;fp itf;fg;gl;lJ 
 3. ehl;bd; 22 efuq;fspy; ,j;jpl;lk; Kjyhtjhf njhlq;fg;gl;Ls;sJ  
 A. 1 kl;Lk;     B. 1 kw;Wk; 2 kl;Lk;   



 

 

C. 2 kw;Wk; 3 kl;Lk;    D. 1 kw;Wk; 3 kl;Lk;  
  

16. Bidhya Bhandari who was elected as the first women President of Nepal in 
October 2015 belongs to  
A. Madeshi Jana Adhikar Forum  B. Communist party of Nepal  
C. Nepali Congress     D. Rastriya Prajatantra party  
mf;Nlhgh; 2015,y;> Neghsj;jpd; Kjy; ngz; FbauRj; jiytuhfj; 
Njh;e;njLf;fg;gl;l gpj;ah gz;lhhp ,f;fl;rpia rhh;e;jth; 
A. khNj~p [d mjpfhh; FO   B. Neghsj;jpd; fk;A+dp];l; fl;rp  
C. Neghsp fhq;fpu];    D. ,uh~;bhpa g;u[jd;jpuh fl;rp  
 

17. Match the recipients of Arjuna Awards for the year 2014-2015 with their games: 
a. Sandeep Kumar    1. Shooting  
b. Sathish Kumar    2. Boxing  
c. Mandeep Jangra    3. Weight lifting  
d. Jitu Rai     4. Archery  
 a b c d 
A. 1 3 4 2 
B. 4 3 2 1  
C. 3 4 1 2  
D.  2 4 1 3 
2014 – 2015 k; Mz;bd; tpisahl;Lf;fhd mh;[{dh tpUJ ngw;wth;fis 
mth;fSila tpisahl;Lld; nghUj;Jf:  
a. re;jPg; Fkhh;    1. Jg;ghf;fp RLjy;  
b. rjP~; Fkhh;   2. Fj;J rz;il 
c. kd;jPg; [hq;fuh  3. gS J}f;Fjy;  
d. [pj;J uha;   4. tpy; tpj;ij  

a b c d 
A. 1 3 4 2 
B. 4 3 2 1  
C. 3 4 1 2  
D.  2 4 1 3 
 

18. Match the following:  
Tamil Nadu Government Awards   Awarder  

for 2015 
a. Tamilthai award    i. Poet Piraisudan 
b. Kabilar award     ii. K. Selvan  
c. V.O.C. award      iii. New Mumbai Tamil Sangam  
d. Kambar award     iv. M. Balasubramanian  



 

 

 A.  a-iii b-i c-iv  d-ii 
 B.  a-ii  b-iii c-i d-iv  
 C.  a-I  b-ii  c-iii  d-iv  
 D.  a-iii  b-iv  c-i d-ii  

nghUj;Jf:  
 jkpof muR tpUJfs;. 2015    ngWeh;  
a. jkpo;j;jha; tpUJ     1. ftpQh; gpiw#ld;  
b. fgpyh; tpUJ      2. Nfh. nry;tk; 
c. t.c.rp.tpUJ     3. etp Kk;ig jkpo;r; rq;fk;  
d. fk;gh; tpUJ      4. K. ghyRg;gpukzpad; 
A.  a-iii b-i c-iv  d-ii 

 B.  a-ii  b-iii c-i d-iv  
 C.  a-i b-ii  c-iii  d-iv  
 D.  a-iii  b-iv  c-i d-ii  
 
19. The first Indian women who conquered the 7077 m high Mount Kun of the 

Himalayas is  
A. K.S. Sudhi    B. Rini Mukkath  
C. G.R. Radhika     D. Soumya Das  
,kakiyapd; 7077kP cau Fd; kiy rpfuj;jpd; Nky; Vwp ntw;wp fz;l Kjy; 
,e;jpag; ngz;kzp ,tuhthh;. 
A. K.S. Rjp     B. hpdp Kf;fj; 
C. G.R. uhjpfh    D. nrskpah jh];  
 

20. Which Indian state recently hosted the first global conference on gender 
equality? 
A. Madhya Pradesh    B. Kerala 
C. Karnataka    D. West Bengal  
ghypd rkj;Jtj;jpw;fhd Kjyhk; cyf khehL ,e;jpahtpd; ve;j khepyj;jpy; 
rkPgj;jpy; eilg;ngw;wJ? 
A. kj;jpa gpuNjrk;   B. Nfusk;  
C. fh;ehlfk;    D. Nkw;F tq;fhsk;  
 

21.  India will chair the Prestigious G-20 forum in the year  
A. 2016   B. 2017  C. 2018  D. 2019  
Gfo;tha;e;j G-20 kd;wj;jpid ,e;jpah jiyik Vw;W elj;jtpUf;Fk; Mz;L 
,J  
A. 2016   B. 2017  C. 2018  D. 2019  
 
 
 
 



 

 

22. Identify the writer who won the prestigious Man Booker Prize for fiction, 2015? 
A. Tom McCarthy   B. Marlon James 
C. Sunjeev Sahota   D. Anne Tyler 
2015-,y; Gjpdj;jpw;fhd ngUik tha;e;j Nkd; G+f;fh; ghprpid ntd;w 
vOj;jhsiuf; fz;lwpf.  
A. lhk; nkf;fhh;j;jp   B. khh;yhd; N[k;]; 
C. rQ;rPt; rN`hlh   D. Mdp nla;yh; 
 

23. Which of the following mountains of North America has been renamed as 
Denali? 
A. Mount Elbert    B. Mount Mitchell 
C. Mount McKinley   D. Mount Whitney 
gpd;tUk; kiyfspy; ‘Nldyp’ vd;W kWngahplg;gl;l tlmnkhpf;f kiy vJ? 
A. vy;ngh;l; kiy    B. kp~y; kiy 
C. nkf;fpd;yp kiy    D. tpl;dp kiy  
 

24. In which of the following tennis tournaments in 2015, Sania Mirza and Martina 
Higgins pair did not win the women’s doubles chairmanship? 
A. Miami open    B. French open 
C. US open     D. Wimbledon 
,tw;Ws; 2015k; Mz;L eilngw;w nld;dp]; Nghl;bfspy;> rhdpah kph;rh – 
khh;l;bdh `q;fpd;]; N[hb ngz;fs; ,ul;ilah; gphptpy; rhk;gpad;~pg; gl;lj;ij 
nty;ytpy;iy? 
A. kpahkp Xg;gd;    B. gpuQ;R Xg;gd; 
C. US Xg;gd;    D. tpk;gps;ld; 
 

25. In September 2015, Tamil Nadu’s largest solar plant was commissioned at 
A. Minjur (Tiruvallur Dist.)   
B. Rajakkamangalam (Kanyakumari Dist.) 
C. Vinnandhur (Namakkal Dist.) 
D. Sengottai (Verudhunagar Dist.) 
jkpo;ehl;by; kpf nghpa #hpa kpd;rf;jp epiyak; nrg;lk;gh; 2015-y; Jtq;fg;gl;l 
,lk; vJ? 
A. kPQ;#h; (jpUts;@h; khtl;lk;)  
B. ,uh[hf;fkq;fyk; (fd;dpahFkhp khtl;lk;)  
C.tpz;ze;J}h; (ehkf;fy; khtl;lk;) 
D. nrq;Nfhl;il (tpUJefh; khtl;lk;)  
 

26. The first BRICS migration conference in October 2015 was held at 
A. Sochi, Russia    B. Beijing, China 
C. New Delhi, India   D. Riyadh, Saudi Arabia 



 

 

mf;Nlhgh; 2015y;>BRICS mikg;gpd; KjyhtJ ,lg;ngah;T gw;wpa khehL ,q;F 
eilngw;wJ 
A. Nrhr;rp> u~;ah   B. nga;[pq;> irdh 
C. GJ nly;yp> ,e;jpah  D. hpahj;> nrsjp mNugpah  
 

27. Which organisation’s 73rd foundation day is being observed on 26th September 
2015? 
A. ICAR  B. ISRO  C. CSIR  D. NIO 
ve;j mikg;gpd; 73-Mk; mbj;jsk; ehs;> 26 nrg;lk;gh; 2015-y; mDrhpf;fg;gLfpwJ.  
A. ICAR  B. ISRO  C. CSIR  D. NIO 
 

28. Identify the particle physicist through the clues given below 
1. He won the Noble Prize in physics for the year 2013 along with Francois 
Englert 
2. He won the Royal Society Copley medal on 20, July 2015 
A. Franck Wikzek    B. Peter W. Higgs 
C. Stephen Hawkings    D. Joseph Taylor 
fPNo nfhLf;fg;gl;Ls;s Fwpg;Gfs; nfhz;L Jfs; ,aw;gpayhsiu milahsk; 
fhz;f: 
1. ,th; /gpuhq;fh]; vd;fpsh;L vd;gtNuhL 2013 Mk; Mz;bw;fhd 
,aw;gpaYf;fhd Nehgy; gphprpid ntd;whh;. 
2. 20 [{iy 2015 ,y;> ,uhay; nrhirl;bapdJ fhg;Ns gjf;fj;jpid ,th; 
ntd;Ws;shh;  
A. /gpuhq;f; tpf;n[f;   B. gPl;lh;> lgpy;A> `pf;]; 
C. ];B/gd; `hf;fpd;];  D. N[hrg; ilyh;  
 

29. Match the names of the books in List I with the authors in List II : 
List I       List II 

a. Dreaming Big : My journey to connect India  1. Nandan Nilekani 
 b. Advantage India : From Challenge to opportunity 2. A.S. Dulat 

c. Rebooting Government     3. Sam Pitroda 
d. Kashmir : The Vajpayee years    4. A.P.J Abdul Kalam 
 a b c d 
A. 1 3 4 2 
B. 3 4 1 2 
C. 2 3 1 4 
D. 4 3 2 1 
gl;bay; I-y; ,Uf;Fk; Gj;jfq;fspd; ngah;fis gl;bay; II-y; ,Uf;Fk; Gj;jf 
Mrphpah;fNshL nghUj;jp rhpahd tpilia Njh;e;njL: 
 gl;bay; I         gl;bay; II 
a. Dreaming Big : My journey to connect India  1. ee;jd; epy;Nfdp 

 b. Advantage India : From Challenge to opportunity 2. V.v];. Jyhj; 



 

 

c. Rebooting Government     3. rhk; gpl;Nuhlh 
d. Kashmir : The Vajpayee years     4. V.gp.N[. mg;Jy; fyhk; 
 a b c d 
A. 1 3 4 2 
B. 3 4 1 2 
C. 2 3 1 4 
D. 4 3 2 1 
 

30. Who has been appointed as the first male member of National commission for 
women? 
A. Alok Rawat     B. Bilal Nazki 
C. Reva Khetrapal    D. Krishna Sahu 
Njrpa kfsph; Mizaj;jpd; Kjy; Mz; cWg;gpduhf epakpf;fg;gl;lth; ahh;? 
A. mNyhf; uthj;    B. gpyhy; e];fp 
C. Nuth nfl;ughy;   D. fpU~;zh rhF  
 

31. When was the first World Antibiotic Awareness week observed? 
A. 16 November to 22 November 2015 
B. 5 November to 11 November 2015 
C. 22 October to 28 October 2015 
D. 18 October to 24 October 2015 
Kjyhk; cyf Mz;bgahbf; tpopg;Gzh;T thuk; vg;nghOJ mDrhpf;fg;gl;lJ? 
A. 16 etk;gh; Kjy; 22 etk;gh; 2015 tiu  
B. 5 etk;gh; Kjy; 11 etk;gh; 2015 tiu  
C. 22 mf;Nlhgh; Kjy; 28 mf;Nlhgh; 2015 tiu  
D. 18 mf;Nlhgh; Kjy; 24 mf;Nlhgh; 2015 tiu  
 

GROUP IIA 2016 – ECONOMICS 
 

32. Match the following and choose the correct one:  
a. Integrated child development Services   1. 2002 
b. National Rural Health Mission     2. 1975 
c. National Health Policy      3. 1986 
d. National Policy on education     4. 2005 
 a b c d 
A. 3 1 4 2  
B. 2 4 1 3 
C.  3 2 4 1  
D.  1 3 2 4  
fPo;tUgdtw;iw nghUj;jp rhpahd tpilia Njh;T nra;f:  



 

 

a. xUq;fpize;j Foe;ijfs; Nkk;ghl;L gzpfs;  - 1. 2002 
b. Njrpa Cuf Rfhjhug;gzpj; jpl;lk;    - 2. 1975 
c. Njrpa Rfhjhuf; nfhs;if     - 3. 1986 
d. Njrpa fy;tpf; nfhs;if      - 4. 2005  

a b c d 
A. 3 1 4 2  
B. 2 4 1 3 
C.  3 2 4 1  
D.  1 3 2 4 
 

33. Match the following and select the correct answer:  
a. Nirmal Bharat Abiyon    1. Rural Roads 
b. Pradhan Mantri Gram Sadak Yojana  2. To provide minimum basic 
       infrastructure to all habitations  
c. Rural infrastructure Scheme   3. Rural Sanitation  
d. Tamil Nadu Habitation improvement  4. To stabilise the assets created  
   Scheme         under NGNREGS  
 a b c d 
A. 3 1 4 2  
B. 1 3 2 4 
C. 4 1 3 2  
D. 2 4 1 3 
fPo;tUgdtw;iw nghUj;jp rhpahd tpilia Njh;T nra;f:  
a. eph;ky; ghuj; mgpahd;    1. Cuf rhiyfs; 
b. gpujhd; ke;jphp fpuhk rjf; Nah[dh 2. midj;J tho;tplq;fSf;Fk;  
mbg;gil      
c. fpuhk fl;likg;G jpl;lk;   3. fpuhk Rfhjhuk; 
d. jkpo;ehL tho;tpl Nkk;ghl;L jpl;lk; 4. kfhj;kh fhe;jp Ntiy cWjp  
jpl;lj;jpy; cUthf;fg;gl;l  
nrhj;Jf;fis epiyg;gLj;Jjy;   
 a b c d 
A. 3 1 4 2  
B. 1 3 2 4 
C. 4 1 3 2  
D. 2 4 1 3 
   

34. Which one of the following finance commission prescribed the devolution of tax 
revenue to states on the net proceeds of all central taxes? 
A. 8th finance commission   B. 11th finance commission  
C. 10th finance commission   D. 9th finance commission  



 

 

gpd;tUk; epjp Mizaq;fspy;> kj;jpa murpd; midj;J thpfspd; epfu 
tUkhdjjpid khepyq;fSf;F mjpfhu gfph;T toq;f ghpe;Jiu nra;j Mizak; 
vJ? 
A. 8tJ epjp Mizak;   B. 11tJ epjp Mizak;  
C. 10tJ epjp Mizak;  D. 9tJ epjp Mizak;  
 

35. In 1868, the National Income estimate Committee of India was headed by 
A. V.K.R.V. Rao     B. Shah & Khambatt 
C. Dadabhoy Naoroji    D. W.C. Peterson 
1868 Mk; Mz;by; ,e;jpahtpd; Njrpa tUtha; kjpg;gPl;Lf; FOtpidj; jiyik 
jhq;fpath; 
A. V.K.R.V. uht; Mthh;   B. ~h kw;Wk; fk;gl; Mthh; 
C. jhjhgha; nesNuh[p Mthh;  D. W.C. gPl;lh;rd; Mthh; 
 

36. Bharat Nirman was started to unlock the development potential of 
A. Indian Bond Market   B. Public Sector undertakings 
C. Urban India    D. Rural India 
,e;j cw;gj;jp Nkk;ghl;L jpwid ntspf;nfhzu> ghuj eph;khd; jpl;lk; 
njhlq;fg;gl;lJ? 
A. ,e;jpa gj;jpu re;ij    
B. nghJj;Jiw epWtdq;fspd; nghWg;Ngw;Gg; gzp  
C. efh;Gw ,e;jpah 
D. fpuhkg;Gw ,e;jpah  
 

37. Which one of the following was not identified under the Basic Minimum 
Services (BMS) programme of the Ninth Five Year Plan? 
A. Provision of safe drinking water 
B. Universalisation of Primary education 
C. Development of renewable sources of energy 
D. Availability of primary health facilities 
fPo;tUtjpy; ve;j xd;W> xd;gjhtJ Ie;jhz;L jpl;lj;jpd; fPo; Fiwe;jgl;r 
mbg;gil Nritfs; (BMS) jpl;lj;jpy; ,lk; ngwtpy;iy? 
A. midtUf;Fk; ghJfhg;ghd FbePh; toq;Fjy;  
B. Muk;gf; fy;tp midtUf;Fk; fpilf;fr; nra;jy;  
C. GJg;gpf;fj;jf;f vhprf;jp %yq;fis tsh;r;rpailar; nra;jy;  
D. Muk;g Rfhjhu trjpfs; fpl;LkhW nra;jy;  
 

38. The Statistical Indicator of equitable distribution of Income is 
A. National Income   B. Per Capita Income 
C. Gini Coefficient   D. Disposable Personal Income 
rk msT tUkhd gfph;it fhl;Lk; Gs;spapay; FwpaPL: 
A. Njrpa tUkhdk;    B. jyh tUkhdk;  



 

 

C. fpdp nfO     D. nrytplj;jf;f jdpegh; tUkhdk; 
 

GROUP IIA 2016 – GK 
 
39. When did the unique identification authority of India generate the first generate 

Aadhar card? 
A. 29th Aug. 2009     B. 26th Sep.2011 
C. 29th Sep. 2010     D. 25th Oct. 2010 
,e;jpa jdpj;Jt milahs Mizak; vg;NghJ Kjy; Mjhh; ml;ilia 
cUthf;fpaJ? 
A. Mf];l; 29> 2009   B. nrg;lk;gh; 26> 2011 
C. nrg;lk;gh; 29> 2010   D. mf;Nlhgh; 25> 2010 
 

40. Match the following and choose the correct option : 
a. Flute   1. Ali Akbar Khan 
b. Tabla   2. Nishat Khan 
c. Sitar   3. Zakir Hussain 
d. Sarod   4. Rajendran Prasanna 
 a b c d 
A. 4 3 2 1 
B. 4 3 1 2 
C. 3 4 1 2 
D. 1 2 3 4 
gpd;tUtdtw;iw nghUj;jp rhpahd tpilia Njh;T nra;aTk;:  
a. Gy;yhq;Foy;    1. myp mf;gh; fhd;  
b. jgyh     2. ep~hj; fhd; 
c. rpjhh;    3. ]hfph; `{ird; 
d. rNuhl;    4. uhN[e;jpu gpurd;dh  

a b c d 
A. 4 3 2 1 
B. 4 3 1 2 
C. 3 4 1 2 
D. 1 2 3 4 
 

GEOGRAPHY 
 

41. The Planet which has the fastest orbital motion is  
A. Mercury   B. Venus   C. Earth   D. Mars 
#hpaty Rw;Wg; ghijapy; mjpf Ntfj;ij nfhz;Ls;s Nfhs;  
A. Gjd;    b. nts;sp  C. Gtp  D. nrt;tha;  



 

 

 
42. The mountain which is known as ‘horst’ is  

A. Fold mountain    B. Bock mountain 
C. Volcanic mountain    D. Residual mountain 
‘`hh;];l;’ vd miof;fg;gLk; kiy  
A. kbg;Gkiy  B. gpz;lkiy  C. vhpkiy D. vQ;rpa kiy  
 

43. Largest area in the ocean floor is occupied by 
A. Continental shelf    B. Continental slope 
C. Deep sea plain    D. Ocean deeps  
fly; jiuapy; mjpf epyg;gug;ig Mf;fpukpj;J ,Ug;gJ  
A. fz;lj;jpl;Lf;fs;    B. fzlr;rhpTfs;  
C. Mo;fly; rkntsp   D. fly; Mopfs;  

44. Match List I with List II and choose the correct answer from the codes given 
below:  

List I      List II  
a. Bombay Railway station   1. 1873 
b. Royapuram Railway station   2. 1908 
c. Chennai Central Railway station  3. 1853 
d. Egmore Railway station    4. 1856 

a b c d 
 A. 3 4 1 2  
 B. 3 2 4 1  
 C. 4 1 2 3  
 D. 2 3 1 4  

gl;bay; I I gl;bay; II cld; nghUj;jp> rhpahd tpilia fPNo 
nfhLf;fg;gl;Ls;s FwpaPLfspypUe;J Njh;e;njL: 

  gl;bay; I      gl;bay; II  
 a. gk;gha; uapy; epiyak;    1. 1873 
 b. uhaGuk; uapy; epiyak;   2. 1908 
 c. nrd;id nrd;l;uy; uapy; epiyak;  3. 1853 
 d. vOk;G+h; uapy; epiyak;    4. 1856  

a b c d 
 A. 3 4 1 2  
 B. 3 2 4 1  
 C. 4 1 2 3  
 D. 2 3 1 4 
 
45. The part of the earth’s interior which is known as Asthenosphere is  

A. SIMA      B.  Upper Mantle 



 

 

C. Lower Mantle      D. Outer core 
m];jNdh];gpah; vd miof;fg;gLk; Gtpapd; cl;ggFjp  
A. rpkh   B. Nky; Nkz;by;  C. fPo; Nkz;by; D. ntspf; fUtk;  
 

46. The river which is said to be the lifeline of Sikkim is 
A. Manas  B. Lohit  C. Sankosh   D. Tista 
rpf;fpk; khepyj;jpd; caph;ehb vd miof;fg;gLk; MW 
A. khdh];  B. Nyhfpj;  C. rq;Nfh];  D. b];lh  
 

47. Match the given hill stations with the states in which they are located : 
Hill Stations    States 

a. Araku     1. Jammu and Kashmir 
b. Gulmarg     2. Himachal Pradesh 
c. Kulu     3. Meghalaya 
d. Shilong     4. Andhra Pradesh 
 a b c d 
A. 4 2 1 3 
B. 4 1 2 3 
C. 2 1 3 4 
D. 2 3 1 4 
nfhLf;fg;gl;Ls;s kiy thoplq;fis mitfs; mike;Js;s khepyq;fNshL 
nghUj;Jf:  
 kiy thoplq;fs;  khepyq;fs;  

 a. muf;F     1. [k;K & fh~;kPh;  
 b. Fy;khh; ;̀   2. ,khr;ry gpuNjrk;  
 c. FY    3. Nkfhyah 
 d. rpy;yhq;    4. Me;jpu gpuNjrk;  

a b c d 
A. 4 2 1 3 
B. 4 1 2 3 
C. 2 1 3 4 
D. 2 3 1 4 

 

HISTORY 
 
48. Which Indian dynasty imposed a tax called “Patdam” on remarriage of widows? 

A. The Mughals     B. The Peshwas 
C. The Sambhuvarayas   D. The Nayaks of Tanjore  
ve;j ,e;jpa tk;rhtopapdh; tpjit kWkzj;jpw;F “ghl;lhk;” vd;w thpia 
tpjpj;jdh;?  
A. Kfyhah;fs;     B. gP~;thf;fs; 



 

 

C. rk;Gtuhah;fs;    D. jQ;ir ehaf;fh;fs;  
 

49. Identify the Indian Political Leader who uttered the following opinion:  
“Indians do not deserve freedom from British rule unless they themselves get 
rid off the evils untouchability?  
A. Bala Gangadhara Tilak   B. Gopala Krishna Gokhale  
C. Mohandas Gandhi   D. Dr. B.R. Ambedkar  
gpd;tUk; fUj;jpidf; $wpa ,e;jpa murpay; jiytiu milahsk; fhz;. 
“jPz;lhikia tpl;nlhkpf;fhtpby; ,e;jpah;fs; Mq;fpNyah;fsplkpUe;J Rje;jpuk; 
ngw jFjpaw;wth;fs;” 
A. ghyfq;fhju jpyfh;   B. Nfhghy fpU~;z NfhfNy 
C. Nkhfd;jh]; fhe;jp   D. lhf;lh; gp.Mh;. mk;Ngj;fhh;  
 

50. Which of the following Chief Justice of Supreme Court served as acting 
President of India?  
A. Justice Subha Rao    B. Justice M. Hidayatullah  
C. Justice Y.V. Chandrachud   D. Justice P.N. Bhagwati  
gpd;tUk; ve;j cr;r ePjpkd;w jiyik ePjpgjp ,e;jpahtpd; jw;fhypf FbauR 
jiytuhf nray;gl;Ls;shh;?  
A. ePjpgjp Rg;ghuht;    B. ePjpgjp M. ,jaJy;yh  
C. ePjpgjp Y.V. re;jpu#l;  D. ePjpgjp P.N. gftjp  
 

51. Who among the following stayed away without taking part in 1857 Revolt?  
1. Sindhia 
2. Holkar 
3. Gaekwar 
4. Nizam  
A. 1, 3 and 4 only    B. 1,2,3 and 4  
C. 2, 3 and 4 only    D. 1 and 4 only  
fPo;fz;lth;fspy; 1857k; Mz;L Gul;rpapy; fye;J nfhs;shky; tpyfpNa 
,Ue;jth;fs; ahh;?  

 1. rpe;jpah  
 2. N`hy;fh; 
 3. nfa;f;th; 
 4. ep[hk;  
 a. 1> 2 kw;Wk; 4 kl;Lk;   B. 1> 2> 3 kw;Wk; 4 
 C. 2> 3 kw;Wk; 4 kl;Lk;   D. 1 kw;Wk; 4 kl;Lk;  

 
52. Who presided over the Karachi Session of Indian National Congress in 1931? 

A. Sardar Vallabhbhai Patel    B. Gandhi  
C. Lala Lajpat Rai    D. Annie Besant  



 

 

1931-k; Mz;L fuhr;rpapy; eilngw;w ,e;jpa Njrpa fhq;fpu]; $l;lj;jpw;F 
jiyik tfpj;jth; ahh;?  
A. rh;jhh; ty;ygha; gl;Nly;   B. fhe;jp  
C. yhyh y[gjp uha;     D. md;dpngrd;l;  
 

53. Consider the following statement, choose the correct answer from the codes 
given below:  
Assertion (A) : The Romans had trade contact with Tamil country and  
nearly 6 lakhs 
Reason (R)  : Roman Trade declined after the death of Nero in 68 B.C 
A. (A) alone is correct (R) is incorrect  
B. (A) and (R) are correct and (R) is the correct explanation of (A) 
C. (A) and (R) are incorrect  
D. (A) and (R) are correct but (R) is not the correct explanation of (A) 
fPo;fhZk; thf;fpaq;fis mbg;gilahff; nfhz;L rhpahd tpilia 
nfhLf;fg;gl;Ls;s FwpaPLfspy; ,Ue;J Njh;T nra;f:  
$w;W (A) : Nuhkhdpah; jkpofj;Jld; tzpf njhlh;lG nfhz;bUe;jdh;. 6  
          yl;rk; jq;f ehzaq;fs; ghpkhw;wk; nra;ag;gl;lJ. ,jdhy;  
          Nuhkhdpa nghUshjhu epiy Fiye;jJ 
fhuzk; (R) : Nuhkhdpa tzpfk; fp.K. 68y; ePNuh kd;dd; ,we;j gpd;dh;  
tPo;r;rpaile;jJ  
A. (A) kl;Lk; rhp (R) jtW 
B. (A) kw;Wk; (R) ,uz;Lk; rhp (R), (A) cila rhpahd tpsf;fkhFk;.  
C. (A) kw;Wk; (R) ,uz;Lk; jtW  
D. (A) kw;Wk; (R) ,uz;Lk; rhp (R), (A) cila rhpahd tpsf;fky;y   

 
54. Which of the following were the liquid measurements used by the imperial 

cholas? 
A. Ma, Kuzhi     B. Kalanju, Madai 
C. Nali, Uri      D. Tuni, Padakku 
gpd;tUtdtw;Ws; gpw;fhy Nrhoh;fs; gad;gLj;jpa jput msitfs; vJ? 
A. kh> Fop  B. foQ;R> khil  C. ehop> chp D. J}zp> gjf;F  
 

55. Pick out the wrong statement about Rabindranath Tagore 
(I) He founded Shantiniketan (now Viswabharathi university) in Bengal 
(II) He is the first Asian to receive Nobel prize in 1915 
(III) His works are ‘post office’ and ‘Cora’ 
(IV) He is the writer of National Anthems of India and Srilanka 
A. I only      B. II only    
C. I and III only     D. II and IV only 
,ugpe;juehj; jh$h; gw;wpa jtwhd $w;iw Rl;bf;fhl;lTk;  



 

 

I. tq;fhsj;jpy; rhe;jpepNfjid epWtpdhh; (jw;NghJ ,JNt tp~;tghujp 
gy;fiyf;fofk;) 
II. 1915y; Nehgy; ghpR ngw;w Kjy; Mrpah; ,th; Mthh;  
III.‘Ngh];l; Mgp];’ kw;Wk; ‘Nfhuh’ Mfpait ,tuJ gilg;GfshFk; 
IV. ,e;jpah kw;Wk; =yq;fhTf;fhd Njrpa fPjj;ij vOjpdhh;  
A. I kl;Lk;   B. II kl;Lk;  C I kw;Wk; III kl;Lk; D. II kw;Wk; IV kl;Lk;  
 

56. Who was the President of All India State People Conference during 1946-1947? 
A. Sardar Vallabhai Patel  B. Pandit Jawaharlal Nehru 
C. Dr. Rajendra Prasad   D. V.P. Menon 
mfpy ,e;jpa khepy kf;fs; FOtpd; jiyik nghWg;ig 1946 – 47 Mk; 
Mz;Lfspy; tfpj;jth; ahh;? 
A. rh;jhh; ty;ygha; gl;Nly;   B. gz;bj [tfh;yhy; NeU 
C. lhf;lh;. ,uhN[e;jpu gpurhj;  D. tp.gp. Nkdd; 
 

57. Which among the following is not related to the Aligarh Movement? 
I. Providing modern education to Indian Muslims 
II. Reform of Muslim society 
III. Bringing Indian Muslims close to Modernism 
IV. Awakening of Nationalism among Indian Muslims 

 A. I   B. II   C. III   D. IV 
fPo;fz;ltw;Ws; mypfhh; ,af;fj;Jld; njhlh;gpy;yhjJ vJ? 
I. ,e;jpa K];yPk;fSf;F etPd fy;tp mspj;jy;  
II. K];yPk; r%fj;ij rPh;jpUj;JtJ  
III. etPdkakhf;fspy; ,e;jpa K];yPk;fis neUq;fr; nra;jy;  
IV. ,e;jpa K];yPk;fSf;fpilNa Njrpa czh;itT+l;Ljy;  
A. I   B. II   C. III   D. IV 
 

58. Match the following and choose the correct option : 
a. K. R. Iyengar   1. Vaikom Satyagraha 
b. Kelappan   2. Hindu Mahasabha 
c. M.R. Masani   3. Madras Mahajan Sabha 
d. M.M. Malaviya  4. Congress Socialist Party 
 a b c d 
A. 1 3 2 4 
B. 2 1 4 3 
C. 3 1 4 2 
D. 4 3 1 2 
gpd;tUtdtw;iw nghUj;jp rhpahd tpilia Njh;e;njLf;fTk;:  
a. K.R. ma;aq;fhh;   1. itf;fk; rj;jpahfpufk;  
b. Nfsg;gd;    2. ,e;J kfhrig  



 

 

c. vk;.Mh;. k]hdp   3. nkl;uh]; kfh[d; rig  
d. vk;.vk;. khstpah   4. fhq;fpu]; Nrhryp];l; fl;rp  

a b c d 
A. 1 3 2 4 
B. 2 1 4 3 
C. 3 1 4 2 
D. 4 3 1 2 

 

PHYSICS 
 

59. Match List I with List 2 and answer through the codes given below:  
List I     List II 

 a. Infrared spectrometer   1. Measures the purity of sugar  
 b. Polarimeter     2. Test aeroplane surface under stress 
 c. Barometer     3. Study of molecular structure  
 d. Stain gauge     4. Measure atmospheric pressure 
  a b c d 
 A. 2 4 1 3  
 B. 2 3 4 1  
 C.  3 1 4 2 
 D.  4 3 1 2  

gl;bay; 1-y; cs;stw;iw gl;bay; 2-Lld; fPNo nfhLf;fg;gl;Ls;s FwpaPLfs; 
%yk; nghUj;Jf:  
 gl;bay; 1      gl;bay; 2 
a. mfr;rptg;G epwkhiykhdp  1. rf;fiuapdJ J}a;ikapid mstpl  
b. nghyhhpkhdp    2. jifTf;F cl;gLj;jg;gl;l Mfha  
tpkhd gug;ig Nrhjidapl  
c. NgNuhkhdp    3. %yf;$W tbtikg;gpid Muha 
d. jphpGkhdp    4. tspkz;ly mOj;jj;jpid mstpl  

  a b c d 
 A. 2 4 1 3  
 B. 2 3 4 1  
 C.  3 1 4 2 
 D.  4 3 1 2  
 
60. Select the pair, which are dimensionally alike among the following 

I. Product of force and time  
II. Product of momentum and time  
III. Product of Ariel velocity and linear density  
IV. Product of work and time  



 

 

A. I and II only    B. II and III only  
C. III and IV only   D. I and III only  
gpd;tUtdtw;Ws;> xj;j ghpkhzq;fisg; ngw;wpUf;Fk; ,iziaj; njhpT nra;f: 
I. tpir kw;Wk; Neuj;jpd; ngUf;fk;  
II. ce;jk; kw;Wk; Neuj;jpd; ngUf;fk;  
III. gug;G jpirNtfk; kw;Wk; ePs mlh;j;jpfsJ ngUf;fk;  
IV. Ntiy kw;Wk; Neuj;jpd; ngUf;fk;  
A. I kw;Wk; II kl;Lk;   B. II kw;Wk; III kl;Lk; 
C. III kw;Wk; IV kl;Lk;  D. I kw;Wk; III kl;Lk;  
 

61. Arrange the following in the increasing order of their penetration powers  
I. Alpha rays 
II. Bata particles  
III. Gamma rays 
A. I-II-III  B. II – I – III  C. II – III – I  D. III – II – I  
gpd;tUtdtw;iw mtw;wpd; CLUTk; jpwdpd; VW thpirapy; thpirg;gLj;Jf:  
I. My;/gh fjph;fs;  
II. gPl;lh Jfs;fs;  
III.fhkh fjph;fs;  
A. I-II-III  B. II – I – III  C. II – III – I  D. III – II – I  

 
GROUP IIA 2016 – POLITY 

 
62. Arrange the following in ascending order of their formation:  

I. Planning Commission  
II. Zonal Councils  
III. National Integration Council  
IV. National Development council  
A. I-II-III-IV   B. I-IV-III-II  C. I-IV-II-III D. I-III-IV-II 
gpd;tUtdtw;iw mit cUthf;fg;gl;ljpd; VW thpirapy; vOJ: 
I. jpl;l Mizak;  
II.kz;ly FOf;fs;  
III. Njrpa xUikg;ghL FO  
IV. Njrpa tsh;r;rp FO  
A. I-II-III-IV   B. I-IV-III-II  C. I-IV-II-III D. I-III-IV-II 

 
63.  When was the state of Nagaland formed?  

A. 1961   B. 1963  C. 1965  D. 1967 
ehfhyhe;J khepyk; vg;nghOJ cUthf;fg;gl;lJ? 
A. 1961   B. 1963  C. 1965  D. 1967 



 

 

 
 
64. Which of the following schedule was inserted by the 74th Amndment Act? 

A. 12th Schedule    B. 11th Schedule  
C. 13th Schedule    D. 10th Schedule  
74tJ jpUj;j rl;lj;jpd; %yk; gpd;tUk; ve;j ml;ltiz Nrh;f;fg;gl;lJ? 
A. 12-tJ ml;ltiz  B. 11-tJ ml;ltiz  
C. 13-tJ ml;ltiz  D. 10-tJ ml;ltiz  
 

65. Complete the following statement with appropriate choices and select the 
correct option:  
The State Information Commissioner shall be appointed by the Governor on the 
recommendation of a committee consisting of  
1. The Chief Minister  
2. The leader of opposition in the legislative assembly  
3. A Cabinet Minister, nominated by the Chief Minister  
4. The Chief Justice of the High Court  
A. 1 and 2 only    B. 1, 2 and 4 only  
C. 1, 2 and 3 only   D. 1, 3 and 4 only  
gpd;tUk; $w;wpid> mjw;F cfe;j Njh;TfNshL G+h;j;jp nra;J> rhpahd 
njhptpid Njh;e;njL.  
khepy jiyik jfty; Mizaiu epakpf;f MSeUf;F ghpe;Jiu nra;Ak; FO 
,tw;iw cs;slf;fpaJ 
1. Kjy; mikr;rh;  
2. rl;lkd;w vjph;fl;rp jiyth;  
3. Kjyikr;ruhy; Kd;nkhopag;gLk; Nfgpdl; mikr;rh;  
4. cah;ePjpkd;w jiyik ePjpgjp 
A. 1 kw;Wk; 2 kl;Lk;   B. 1> 2 kw;Wk; 4 kl;Lk;  
C. 1> 2 kw;Wk; 3 kl;Lk; D. 1> 3 kw;Wk; 4 kl;Lk;  
 

66.  When was supreme court of India inaugurated? 
A. Jan 26, 1950   B. Jan 28, 1950 
C. Feb 28, 1950   D. April 26, 1950  
,e;jpahtpd; cr;rePjpkd;wk; vg;nghOJ jpwe;J itf;fg;gl;lJ? 
A. [dthp 26> 1950   B. [dthp 28> 1950 
C. gpg;uthp 28> 1950   D. Vg;uy; 26> 1950  
 

67. Which Indian Constitutional Amendment Act on Panchayat Raj mentions under 
clause I 1/3 of the seats were to be allotted to women belonging to SCs and STs. 
A. 73rd Amendment    B. 74th Amendment  
C. 75th Amendment    D. 76th Amendment  



 

 

ve;j ,e;jpa murpaikg;G gQ;rhaj;J uh[; jpUj;jr;rl;lk; gphpT –Id; gb>1/3-y; 
gq;F ,lk; jho;j;jg;gl;l kw;Wk; kiytho; ngz;fSf;fhd ,lk; xJf;fg;gl 
Ntz;Lk; vd Fwpf;fpwJ? 
A. 73-tJ rl;lj;jpUj;jk;   B. 74-tJ rl;lj;jpUj;jk;  
C. 75-tJ rl;lj;jpUj;jk;   D. 76-tJ rl;lj;jpUj;jk;  
 

68. Consider the following statements with reference to the Indo Soviet Treaty in 
1971. Which of the statements given below is/are correct: 
I. This treaty was signed for 20 years 
II. This treaty was concluded on August 9, 1971 by Soviet Foreign Minister 
Gromyko and India’s Minister of External Affairs sardar Swaran Singh 
III. A former congress President K. kamaraj said, “It would not only consolidate 
the friendship between the two countries but also help the cause of peace in Asia 
and the world” 
A. I only     B. I and II only 
C. II only     D. I, II and III only 
1971-k; Mz;L ,e;jpa-Nrhtpaj; cld;gbf;ifapd; thf;fpaq;fis ftdpf;fTk;.  
fPNo Fwpg;gpl;Ls;s thf;fpaq;fspy; vJ / vit rhpahdit? 
I. ,t;Tld;gbf;if 20 Mz;Lf;F Vw;gLj;jg;gl;lJ 
II. Nrhtpaj; ntspAwTj; Jiw mikr;rh; FNuhkpNfh vd;gtUf;Fk; ,e;jpa 
ntspAwTj;Jiw mikr;rh; rh;jhh; Rtud; rpq; vd;gtUf;FkpilNa 1971 Mf];l; 
9-y; Vw;gLj;jg;gl;lJ. 
III. ,t;Tld;gbf;if ,uz;L ehLfSf;fpilNa ey;Ywit gyg;gLj;JtNjhL 
kl;Lky;yhky; Mrpah kw;Wk; cyfstpy; mikjpia Vw;gLj;j cjTk; vd 
Kd;dhs; fhq;fpu]; jiyth; Nf. fhkuh[; $wpAs;shh;.  
A. I kl;Lk;     B. I kw;Wk; II kl;Lk;   
C. II kl;Lk;    D. I, II kw;Wk; III kl;Lk;  
 

69. Arrange the following committees in chronological order 
1. Gorwala Committee 
2. Ayyangar Committee 
3. Appleby Report 
4. Administrative Reforms Commission 
A. 1-3-2-4  B. 2-3-1-4  C. 2-1-3-4  D. 3-1-2-4 
gpd;tUk; FOf;fis fhyfpukg;gb thpirg;gLj;Jf: 
1. Nfhh;thyh FO  
2. ma;aq;fhh; FO  
3. /Mg;gpy;Ng mwpf;if  
4. eph;thf rPh;jpUj;j Mizak;  
A. 1-3-2-4  B. 2-3-1-4  C. 2-1-3-4  D. 3-1-2-4 
 

70. When did the Constituent Assembly for undivided India meet for the first time? 



 

 

A. 9th November, 1946    B. 9th December, 1946 
C. 9th October, 1946    D. 9th September, 1946 
gphpf;fg;glhj ,e;jpahtpd; murpayikg;G eph;za rigapd; Kjy; $l;lk; 
vg;nghOJ eilngw;wJ? 
A. 9 etk;gh;> 1946    B. 9 brk;gh; 1946 
C. 9 mf;Nlhgh;> 1946    D. 9 nrg;lk;gh;> 1946 
 

71. Who headed steering committee of Constituent Assembly? 
A. Jawaharlal Nehru   B. K.M. Munshi 
C. H.C. Mookherjee   D. Rajendra Prasad 
murpayikg;G eph;za rigapd; topfhl;L FOtpd; jiyth; ahh;? 
A. [tfh;yhy; NeU    B. K.M. Kd;rp 
C. H.C. Kfh;[p    D. uhN[e;jpu gpurhj;  
 

72. Which article of Indian Constitution deals with Rights to Elementary Education? 
A. Article 20 (a)    B. Article 21 (a)   
C. Article 22 (a)    D. Article 21 
,e;jpa murpayikg;gpd; ve;jtpjp Muk;gf; fy;tpAhpikNahL njhlh;GilaJ? 
A. tpjp 20 (a)  B. tpjp 21 (a) C. tpjp 22 (a)  D. tpjp 21 
 

73. Who nominates the Chairman of the Public Accounts Committee of the Indian 
Parliament? 
A. The Prime Minister 
B. The speaker of the house of people 
C. Minister of Parliament Affairs 
D. Committee of Parliamentary Affairs 
,e;jpa ghuhSkd;wj;jpd; nghJf; fzf;F FO jiytiu epakdk; nra;gth; ahh;?  
A. gpujk ke;jphp      B. kf;fsit rghehafh; 
C. ghuhSkd;w tptfhu mikr;rh;  D. ghuhSkd;w tptfhu FO  
 

74. Which Article empowers the President to summon and prorogue either Houses 
of Parliament 
A. Article 75    B. Article 81 
C. Article 85    D. Article 88 
ve;j murpayikg;G rl;lj;jpd; %ykhf FbauRj; jiyth; ehlhSkd;wj;jpd; 
mitfis $l;Ltjw;F my;yJ xj;jpitg;gjw;F mjpfhuk; cs;sJ? 
A. tpjp 75  B. tpjp 81  C. tpjp 85  D. tpjp 88 

 
 

  



 

 

MATHEMATICS 
 

75. If 784 78%x+ =  of 500 then the value of x is   

A. 342  B. 352  C. 362  D. 372 

784 500x= = -d; 78% vdpy; x-d; kjpg;G 
A. 342  B. 352  C. 362  D. 372 
 

76. Find the greatest number that will divide 42, 91 and 183 so as to leave the same 
remainder in each case  
A. 4   B. 7   C. 9   D. 13 
43> 91 kw;Wk; 183 Mfpa vz;fis tFf;Fk; NghJ xNu kPjpiaj; juf;$ba kpfg; 
nghpa vz;  
A. 4   B. 7   C. 9   D. 13 

 
77.  Find the missing letters in the series AZ, GT, MN, ? ?, YB 

A. JH   B. SH   C. SK   D. TS  
njhlhpy; tpLgl;l vOj;Jf;fs; ahit? AZ, GT, MN, ? ?, YB 
A. JH   B. SH   C. SK   D. TS  

 
78. First pipe can fill a tank in 12 hours. Second pipe can fill the same tank in 6 hours. 

Third pipe in 4 hours. How long will it take to fill the tank if all the 3 pipes are 
opened simultaneously? 
A. 2 hrs   B. 3 hrs   C. 4 hrs   D. 12 hrs 
xU jz;zPh; njhl;bia epug;Gtjw;F Kjw;Foha;f;F 12 kzp Neuk; MfpwJ. mNj 
njhl;bia epug;Gtjw;F ,uz;lhk; Foha;f;F 6 kzp Neuk; MfpwJ. %d;whk; 
Foha;f;F 4 kzp Neuk; MfpwJ. %d;W Foha;fSk; xNu rkaj;jpy; jpwe;J 
tplg;gl;lhy; jz;zPh; njhl;b epuk;Gtjw;F MFk; Neuk; vt;tsT?  
A. 2 kzp   B. 3 kzp  C. 4 kzp  D. 12 kzp  
 

79.  If x2 + 4y2 = 4xy, then x : y is  
A. 2 : 1   B. 1 : 2  C. 1 : 1  D. 1 : 4  
x2 + 4y2 = 4xy vdpy; x : y -d; kjpg;G  
A. 2 : 1   B. 1 : 2  C. 1 : 1  D. 1 : 4  

 
80. At what rate of compound interest per annum will a sum of Rs. 1,200 become 

Rs. 1348.32 in 2 years 
A. 6%   B. 6.5%  C. 7%   D. 7.5% 
1 Mz;bw;F ve;j tl;b tPjk; %yk; &. 1>200 ,uz;L tUlq;fspy; &. 1348.32 
MFk;. 
A. 6%   B. 6.5%  C. 7%   D. 7.5% 
 



 

 

81. Seven men working 9 hours a day can do a piece of work in 30 days. In how 
many days will 10 men working for 7 hours a day do the same work? 
A. 28 days  B. 30 days   C. 32 days   D. 27 days  
7 Ngh; xU Ntiyia jpdk; 9 kzp Neuk; Ntiy nra;J 30 ehl;fspy; 
Kbf;fpd;wdh;. mNj Ntiyia 10 Ngh; jpdk; 7 kzp Neuk; nra;jhy;> vj;jid 
ehl;fspy; Kbg;gh;? 
A. 28 ehl;fs; B. 30 ehl;fs; C. 32 ehl;fs; D. 27 ehl;fs;  
 

82.  If 5   3 = 34 and 6   2 = 40 then, the value of 7  1 is  
A. 54   B. 34   C. 50   D. 30 
5   3 = 34kw;Wk; 6   2 = 40vdj; jug;gl;lhy; 7   1-d; kjpg;G ahJ?  
A. 54   B. 34   C. 50   D. 30 
 

83. Find out the odd number in the series given 25, 36, 49, 81, 121, 169, 225 
A. 36   B. 49   C. 169  D. 225 
nfhLf;fg;gl;l njhlhpy; nghUe;jhj vz;iz fz;lwpf:25, 36, 49, 81, 121, 169, 225 
A. 36   B. 49   C. 169  D. 225 

 
84. A can do a certain job in 12 days. B is 60% more efficient than A. How many days 

does B alone take to do the same job? 
A. 6 days   B. 7½ days   C. 8 days   D. 8 ½ days  
A kl;Lk; xU Ntiyia 12 ehl;fspy; Kbg;ghh;. B vd;gth; A iaf; fhl;bYk; 
60% mjpf jpwDld; Ntiy nra;gth; vdpy; B kl;Lk; mt;Ntiyia vj;jid 
ehl;fspy; Kbg;ghh;? 
A. 6 ehl;fs; B. 7½ ehl;fs; C. 8 ehl;fs; D. 8½ ehl;fs;  
 

85. How much time will it take for an amount ` 2,000 to double at a simple interest 
rate 8% 
A. 25½ years  B. 10½ years  C. 8½ Years   D. 12½ Years 
8% jdptl;b tPjj;jpy; 2>000 vd;w njhif ,ul;bg;ghf khWtjw;Fhpa fhyk; 
vd;d? 
A. 25½ Mz;Lfs;     B. 10% Mz;Lfs; 

 C. 8½ Mz;Lfs;     D. 12½ Mz;Lfs;  
 
86. The length of a rectangle is increased by 60%. By what percent would the width 

have to be decreased so as to maintain the same area 
A. 37½ %  B. 60%  C. 75%   D. 120% 
xU nrt;tfj;jpd; ePskhdJ 60% mjpfhpf;fg;gLfpwJ. mjd; mfykhdJ vj;jid 
rjtPjk; Fiwe;jhy; mjd; gug;gsT Ke;ija gug;gsit NghyNt ,Uf;Fk;? 
A. 37½ %  B. 60%  C. 75%   D. 120% 
 



 

 

87. If a : b = 6 : 7 and b : c = 8 : 9 then a: c is equal to? 
A. 16 : 21  B. 6 : 9  C. 27 : 28   D. 1 : 2 
a : b = 6 : 7 vdTk; b : c = 8 : 9 vdTk; ,Ug;gpd;> a : c tpfpjk; vd;d? 
A. 16 : 21  B. 6 : 9  C. 27 : 28   D. 1 : 2 
 

88. Mean of 25 observations was found to be 78.4 But later it was found that 96 was 
mis-read as 69. Then the corrected mean is 
A. 79.48  B. 76.54  C. 81.32   D. 78.4 
25 vz;fspd; ruhrhp 78.4 vdf; fzf;fplg;gLfpwJ. gpd;dh; 96 vd;w vz; jtWjyhf 
69 vdg; gad;gLj;jg;gl;lJ vdf; fz;Lgpbf;fg;gLfpwJ vdpy;> rhp nra;ag;gl;l 
ruhrhp vJ? 
A. 79.48  B. 76.54  C. 81.32   D. 78.4 
 

89. Find the next alphabet in the sequence B, E, I, N? 
A. U   B. V   C. T    D. S 
gpd;tUk; njhlhpy; mLj;J tUk; Mq;fpy vOj;J vJ B, E, I, N? 
A. U   B. V   C. T    D. S 

 
90. Murali’s  present age is half of his father’s age. Before 10 years, his father’s age 

was thrice his age. Find the present age of Murali and his father. 
A. 16, 32 years     B. 15, 30 years  
C. 20, 40 years     D. 17, 34 years 
Kuspapd; jw;Nghija taJ> mtUila je;ijapd; tajpy; ghjpahFk;. gj;J 
Mz;LfSf;F Kd;G> je;ijapd; tajhdJ> Kuspapd; taijg; Nghy; Kk;klq;fhf 
,Ue;jJ. Kusp kw;Wk; mtuJ je;ijapd; jw;Nghija tajpidf; fhz;f. 
A. 16, 32 Mz;Lfs;    B. 15, 30 Mz;Lfs;  
C. 20, 40 Mz;Lfs;    D. 17, 34 Mz;Lfs; 
 

91. Find the length of the altitude of an equilateral triangle of side 3 3  cm 

A. 27 cm  B. 9 3 cm  C. 9 cm  D. 4.5 cm  

3 3  cm gf;fKs;s rkgf;f Kf;Nfhzj;jpd; Fj;Jauk; vd;d? 

A. 27 cm  B. 9 3 cm  C. 9 cm  D. 4.5 cm  
 

92. A sum of Rs. 1,550 was lent partly at 5% and partly at 8% per annum at simple 
interest. The total interest received after 3 years was Rs.300. The ratio of the 
money lent at 5% to that lent at 8% is 
A. 5 : 8  B. 8 : 5  C. 16 : 15  D. 31 : 6 
&. 1>550-y; xU gFjp 5% tl;b tPjj;jpw;Fk; kw;w gFjp 8% tl;b tPjj;jpYk; 
jdptl;bf;F fldhff; nfhLf;fg;gl;lJ. %d;W tUlq;fSf;Fg; gpwF fpilf;Fk; 
nkhj;j tl;bahdJ &.300 vdpy; 5%-f;Fk; 8%-f;Fk; tplg;gl;l mry;fspd; tpfpjk;. 
A. 5 : 8  B. 8 : 5  C. 16 : 15  D. 31 : 6 



 

 

 
93. A sum of Rs. 800 amount to Rs. 920 in 3 years at a simple interest. If the interest 

rate is increased by 3% what would Rs. 800 amount to ? 
A. 950  B. 970  C. 992  D. 1000 
&.800 vd;w njhifahdJ 3 tUlq;fspy; jdptl;b tPjj;jpy; &.920 vd;whfpwJ. 
jdptl;b tPjk; 3% mjpfhpj;jhy; &.800-f;F fpilf;ff;$ba njhif 
A. 950  B. 970  C. 992  D. 1000 

94. Six bells commence tolling together, afterwards they toll at intervals of 2, 4, 6, 8 
10 and 12 seconds respectively. In 30 minutes, how many times do they toll 
together? 
A. 4   B. 10   C. 15   D. 16 
6 kzpfs; Kjypy; xd;whf mbf;Fk;. gpd;dh; mit xt;nthd;Wk; 2> 4> 6> 8> 10 
kw;Wk; 12 tpdhbfs; ,ilntsp tpl;L mbf;Fk; vd;why;> 30 epkplj;jpy; vj;jid 
Kiw MW kzpfs; xd;whf Nrh;e;J xypj;jpUf;Fk;? 
A. 4   B. 10   C. 15   D. 16 
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96. A sum of Rs. 53 is divided among ABC in such a way that A gets Rs. 7 more than 

what B gets and B gets Rs. 8 more than what C gets. The ratio of their share is 
A. 16 : 9 : 18     B. 25 : 18 : 10   
C. 18 : 25 : 10     D. 15 : 8 : 30 
&gha; 53-I> vd;w %tUf;F gphpj;Jf; nfhLf;fg;gLfpwJ. A vd;gth;  
B ngWtijf; fhl;bYk; &.7 mjpfk; ngWfpwhh;. B vd;gth; C-iaf; fhl;bYk; &.8 
mjpfk; ngWfpwhh;. vdpy;> mth;fs; ngw;w njhiffspd; tpfpjq;fs;. 
A. 16 : 9 : 18 B. 25 : 18 : 10 C. 18 : 25 : 10 D. 15 : 8 : 30 
 

97. A cone, a hemisphere and a cylinder stand on equal bases and have the same 
height. Find the ratio of their volumes 
A. 3 : 2 : 1  B. 1 : 2 : 3  C. 3 : 1 : 2  D. 1 : 3 : 2 
Xh; $k;G> Xh; miu Nfhsk; kw;Wk; Xh; cUis %d;Wk; xNu msitf; nfhz;l 
mbgFjpiaAk;> rkkhd cauj;ijAk; ciladtha; cs;sd. ,jd; fd 
msTfspd; tpfpjk; fhz;f. 
A. 3 : 2 : 1  B. 1 : 2 : 3  C. 3 : 1 : 2  D. 1 : 3 : 2 
    



 

 

98. If 5a = 6 ; 6b = 7 ; 7c = 5, then find the value of abc. 
A. 0   B. -1   C. 2   D. 1 
5a = 6 ; 6b = 7 ; 7c = 5 vdpy;> abc-d; kjpg;G vd;d? 
A. 0   B. -1   C. 2   D. 1 
 

99. The value of yx z a  is 

A. y xza   B. xy za   C. xyz
a   D. x yza  

yx z a d; kjpg;G ahJ? 

A. y xza   B. xy za   C. xyz
a   D. x yza  

 
 
 
 
 


